2 grhEn) ghe 72

ol
™

=)

ke

}

o8

e 252 A

ojn

0.16 =04

@




B

V21

1o,
M
H
il
o

5

a

@ 2 3)3

@ 4

@iststal = Ak ] . a o] ghe?

® 5




o 7TV3-2+6

3 3
@M @W;V@

7V3 +26 ®)

©)

273 +2V6

3

B
o)

2 10 6
:75_76—‘[_76_3\/5

_3)

3 3

_2¥5_2¥6_, 5 TVE 246
3

3




3 2
4. <§x+4) +4a =bx*> +cx+19 @ W, A5 a, b, ¢ oA (a+ b)c

of ghe?

N
®)
| —
®
&
O
&

® -19 @

3 \° 3 )
Ex +2><§x><4+4 + 4a

9
= 1x2+12x—|— 16 + 4a

16 +4a =19
3 9
a—Z,b—Z, c=12

3 9




(Br—A)2 = 92 — Bx+ 9 & T, 4, B o] AT AA4E A2
el

@ 3,3 @ 3,9 @3,18 @99 ©®918

S5 ‘
(3x)2 =2 x 3xx A+ A2 = 9x> — 6Ax + A% 0| B2

A2 =9, A=3( AL AAS)

B=06A=18

~A=3, B=18




(3x - 2)2 — (2x + 2)(=2x + 5) = A7EFH?

@13)62—18)6—6 @ 10x2-8x+9
@ 10x%2 -16x-11 @ 10x%>-8x+19

® 13x2-12x+ 19

(3x=2)2—(2x+2)(-2x+5)= (9x2 = 12x+4) — (—4x® +6x+10)=
13x%2 - 18x—6




7. oAREy=ax® o TR (-3, 27) & A, a ] L7

@ -2 @ 2 @3 @ -3 ® 9

y=ax? 9] 7} A (-3, 27) & AYB=
27=a(-3)% a=3




ojZ g4 y = 2x2 -3 o ALt M y = ax+ b 7t T A

(~Lm), (3,m) 1A B W, a - b ©] ZHS Fabe1?

O @ 2 ® 3 @ 4 ® 5

y=2x2-3 | & & (-1,m), (3,n) & A5t
n=2x32-3=15

y=ax+b 7t (-1,-1),(3,15) & AY2Z2

—-1=-a+b, 15=3a-+b
a=4,b=3,a-b=1




ol
i
or

FA

2
o @

sle [2 %)
r FW
B E

© © ©




10.

O|A LA A ax? —5x -3 =0 (a # 0) & g O]
Z o2 g & oY

1
= 3, = -
D a x=-3

@azQ,x:—%

®a=2 x=3

@ a=3, x=

@ a=2, x=

~&B

| =W —

x=32 Y H 9a-15-3=0 .. a=2
2x2 -5x-3=0
(2x+1)(x-3)=0




11.

o|APFAF A ax? —x -1 =0 9

23he] F& FohH?

® -2 @)-1

® 0

g o]

19, q o g3t E ke

@ 1

B

x=12dYstd a-1-1=0 .. a=

getA Foiz 4L

(2x+1)(x—1) =0

x:—% T=x=1

. 2x(—1)2—1
2

22 —x-1=0

2




12. o5 o2 A FollA a7 fle A7

D 4x2-12x4+9=0 @x2+2x+5:0
@ 2x2-4x+1=0 @ 4x2-7x+3=0
® 6x-5x2=0

@D=22-4x5=-16<0




SR

o] 1478

ot

B
~
oF

/e
~

N
=l

14

n(n—3)

n?-3n-28=0

(n=T)(n+4) =0

an="70"n>0)




14.

A&5h= F A9
22
D 11 @ 13

9l

¥+ (x+1)2=113
x> +x-56=0
(x=7)(x+8) =0
L x=7(x>0)
wfab = Afedds

d&ste F A9FE v, v+ 1251

7, 80| R 748 = 159]|t}.




—4x-117=0

(x=13)(x+9) =0
L x=13(rx>4)
T &9 B4+ 13, 90|t

whebA] qke] A4-0] gL 22 olck.




oj® Qo] Hkz] 2] ZAo|Z 4em SHEY Hojt RE O] Yol A&

9] yolo] 347} Flgrt. A& Qo] WFe] Aol

® 3cm @4cm ® 5cm @ 6cm ® 7cm

~&B

42 Qo] W5 A01E xem 7 3,
n(x +4)% — 7x? = 3nx?

x% + 8x + 16 — x? = 3x2

3x2-8x-16 =0

Bx+4)(x-4)=0

SLx=4cm(. x>0))




oA y = —222 + dx+ 5+ k O] T LI} x Z3 T Yol A] W)
Atk 7te] BE?

@ k>-3 @ k<-3 ® k>-5

@ k<-5 ©) I

b?
b2
b
4

y=ax*+bx+c & x F79] w9
—4dac>0: 27}
—dac=0: 17§
—4dac<0: 07}

—Ax(-2)x(5+k) =8k+56>0 . k>-T7




18. T A+ ab7ta=B-3,b=-Vi+ V84 o, thx 5 &2
29
@D a-b>0 @ b-a<0 ® b+ V7>3
@ ab>0 @a+1>0

a-b=V8-3-(-V7+ V8)
©) =7-3
=V7i-v9<0
La—-b<0
b-a=-\7+ V8- (V8-3)
©) =-V7+3
= V9-V7>0
Lb—a>0
@ (FHH)=b+ VT =-VT+ 8+ V7= V8
($¥)=3= 19
.'.b~|—\/7<3
a=V8-3= V8- V9<0
b= V8- V7>0
soab< 0
a+1:(\/§—3)+1
® =V8-2
= V8- +Vi>0
La+1>0




19. o 5 % 6 7 15 Abolol Gl B4 n o o
o] A4

Q117 @11 @97

sfol i o] Rl

@ 8 7

@1 1

7~ 14 742 9] B4 F 32 =9 A9,
7,8,10,11,12,13,14 (7 7H)




20.

x, y 7k frEad

. 2 = ol gk Frop?

On @ 2 ® 3 @ 4

, x(2-2V2)+y(34+2V2) ] Zkol

#e%57} grka

® 5

(Fo1A Al) = 2x - 2x V2 + 3y + 2y V2
= (2x+3y) + (=2x +2y) V2

o] Alo] {247} =7 flfiA+=
—2x+2y=0 (x, y'C‘ITE]'T‘) o] Eojof gttt




21.

a2 =12, p> =18 4 1, (

+3b> (1 —21;)91%}(

4
x12- - x 18
9

—3-8=-5




22. E}%E Ay=x*-2x-3 9 HZAHS A &5t x F2e] vH-S
C g, AABO ¢ Holx?

yl\
C\ O T
A
@ 16 @ 8 ® 12 @)6 ® 10

B

y=x>-2x-3=(x-1)2-4
A o] FHEE (1, ~4) otk
x5 WHSy=0< gojBnR
0=(x-1)>-40°]ct.

oabA x = -1 &= x = 3 o]t}
B o] &= (3, 0) o|th.

- (AABOS] ‘5}]‘ﬂ):%x3x4:6




23. T AL 4, b7t (a-1)°-4p2 =33 S
25 9 o) 24T (S a> 2

@ 170 (@)27}1 @ 371

=S o, &A% (a, b)
> 0)

@ 47 ® 571

rr

~&B

(a—1)* - 4b® = 33 oA
(a+2b-1)(a-2b-1) =33
a>2b>00]2=

33x1=33 E=11x3=33
et 28-S WESHE (a, b) £

(18, 8), (8, 2) 27] =4St




24. v= I o

% y
M2 e S2olth A xFHHEE o, BY xFHHEE bt S, ab 9

2 P2
n
A
B
D 7
°o; @y o; o3 o

HE 27 g BS olB 2 2 AZHg o] sjRe) 22 AZHg o)
M 27} tf-g-H o]
EEEER 532:5?’;;2 . 9pollA]

gazlﬂ = 4ab




%)
ot
&
oo
N
N
-
N
>
2
)
e
e
o,
©
go
flo
L
ftlo
3u!
4
k]
il
g
D

@ y=-x A x<0 g ], x gto] Z71sH4A y F e
Z7het,

@ y=ax? It y=—-ax? o] A& x Fof tsto]
o % olet.

® 9.00 @ 9.0@ ® 9.0
@® 06, ®oee

B

Dy=ax®+bla+0) 2x=0=FC2 o1 A (0, b) &
ZAH o R = TEAHo|t},

©y=ax? ol a<0gd a7t AAH Fo] Hojzirt.
mehA £ 22 ©,6,0°]t.




